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Navodaya Vidyalaya Samiti 

Pre-Board- 2 Examinations: (2023 - 2024 ) 

Class :- X 

Subject:- Mathematics Standard   

Time :- 3:00 hours.                                                                                                               Maximum Mark :- 80 

General instruction:  

1. This question paper has 5 sections A,B,C,D and E. 

2. Section A has 20 MCQs carrying 1 mark each. 

3. Section B has 5 questions carrying 2 marks each 

4. Section C has 6 questions carrying 3 marks each. 

5.Section D has 4 questions carrying 5 marks each 

6. Section E has 3 case based integrated units of assessment (04 marks each) with sub parts of the values of 

1,1 and 2 marks each respectively 

7. All the questions are compulsory, however internal choice in two questions of 5 marks, 2 questions of 3 

marks, 2 questions of 2 marks has been provided. An internal choice has been provided in the 2 marks 

questions of section E 

8.  Draw neat figures wherever required .Take π = 
  

 
 wherever required if not stated. 

सामान्य अनुदेश 

1. इस प्रश्न पत्र में 5 खंड ए, बी, सी, डी और ई हैं। 

2. सेक्शन ए में 20 एमसीक्यू हैं जिनमें से प्रत्येक पर 1 अकं ह ै

3. खंड बी में 02 अंक के 5 प्रश्न हैं। 

4. सेक्शन सी में 03 अंक वाले 6 प्रश्न हैं। 

5. खंड डी में 05 अंकों के 4 प्रश्न हैं। 

6. खंड ई में उपभागों के साथ मूलयांकन की 3 केस आधाररत एकीकृत इकाइयााँ (प्रत्येक 04 अंक) हैं  प्रत्येक का मान क्रमशः 1, 1 

और 2 ह।ै 

7. सभी प्रश्न अजनवायय हैं. हालााँकक, 5 अंक वाले 2 प्रश्न, 3 अंक वाल े2 प्रश्न में आंतररक जवकलप 

अंक और 2 अंक के 2 प्रश्न उपलब्ध कराए गए हैं। एक आंतररक जवकलप रहा ह ै

अनुभाग ई के 2 अंक वाले प्रश्नों में प्रदान ककया गया 

8. िहां भी आवश्यक हो साफ-सुथरी आकृजतयां बनाएं। यकद नहीं बताया गया ह ैतो िहां भी आवश्यक हो, π =22/7 लें 

 

                                                                    SECTION - A 

Section A consists of 20 questions of 1 mark each. 

1. two positive integers m and n are expressible in the form m = pq
3
and n = p

3
q

2
 ,  where p and q are prime 

numbers ,then HCF (m , n) = 

( a ) pq                   (b) pq
2
                            (c) p

3
 q

3
                             (d) p

2
q

3
 

 

1-nks èkukRed iw.kk±d m vkSj n dks bl çdkj çnÆ'kr fd;k x;k m = pq
3
vkSj n = p

3
q

2
 tgka p vkSj q vHkkT; la[;k gSA rc e-l- 

(m , n) = 

 ( a ) pq                   (b) pq
2
                            (c) p

3
 q

3
                             (d) p

2
q

3
 

2. If one zero of a polynomial f(x) =  5x
2
+ 13x + k is reciprocal of the other than the value of k is  

( a ) 0                    (b) 5                                ( c) 1 / 6.                            (d) 6 

2-;fn cgqin f(x) =  5x
2
+ 13x + k dk ,d 'kwU;k ऺd mlds nwljs 'kwU;k ऺd  dk O;qRØe gS rks  k  dk eku ( a  

( a ) 0                    (b) 5                                ( c) 1 / 6.                            (d) 6 

3. The pair of linear equation y = 0         and          y = -5 has  

( a ) One solution.                                         (b) two solution   
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(c )infinitely many solution                          (d)no solution  

3- jSf[kd lehdj.k dk ,d ;qXe y = 0 vkSj y = -5 ds gksrs gSa-- 

( a ) ,d gy-                 (b) nks gy             (c ) vuar gy      (d) dksÃ gy ugÈ 

 

4. The discriminant of the quadratic equation (x + 2)
2
 =  0  is 

( a) -2                           ( b ) 2                   ( c ) 4.                              ( d ) 0 

4- f}?kkr lehdj.k (x + 2)
2
 =  0  ds foHksndj dk eku Kkr djks  

( a) -2                           ( b ) 2                   ( c ) 4.                              ( d ) 0 

5. If k,  2k - 1 and 2k +1 are three  consecutive term of an AP then the value of k is  

( a) -2                           ( b ) 3                  ( c ) -3                               ( d ) 6 

5- ;fn ,d AP ds rhu Øekxr in k,  2k - 1 and 2k +1 gS rks k dk eku crkb,  

( a) -2                           ( b ) 3                  ( c ) -3                               ( d ) 6 

6. The distance of the point P ( 2 , 3 ) from the x-axis is.  

( a) 2                            ( b ) 3                   ( c ) 1                                ( d ) 5 

6- Çcnq P ( 2 , 3 ) dh  x- v{k   ls nwjh Kkr djks%& 

( a) 2                            ( b ) 3                   ( c ) 1                                ( d ) 5 

7. The point which lies on the perpendicular bisector of line segment joining the points A ( - 2 ,- 5 ) and B 

(2,5) is   

( a ) ( 0, 0 ).                 ( b ) (0 , 2 )          ( c )  ( 2 , 0 )                      ( d )  ( -2, 0 ) 

7- Çcnq  A ( - 2 ,- 5 ) vkSj B (2,5) dks tksM+us okys js[kk[kaM ds yac lef}Hkktd ij fLFkr Çcnq gS  

( a ) ( 0, 0 ).                 ( b ) (0 , 2 )          ( c )  ( 2 , 0 )                      ( d )  ( -2, 0 ) 

8. In the given figure below DE || AC and DF || AE. which of these is equal to BF/ FE 

 
( a ) DF / AE.        ( b ) BE / EC              ( c ) BA / AC.                ( d ) FE / EC 

8-uhps nh xÃ vk—fr esa DE || AC vkSj DF || AE dkSu lk BF/ FE ds cjkcj gS

 
( a ) DF / AE.        ( b ) BE / EC              ( c ) BA / AC.                ( d ) FE / EC 
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9. If tangents PA and PB from a point P to a circle with centre O are inclined to each other at an angle of 80° 

then ∠POA is equal to  

( a ) 50°               ( b ) 70°                       ( c ) 80°                          ( d ) 90° 

9- ;fn O dsaæ okys oÙ̀k  ij Li'kZ js[kk PA vkSj PB Çcnq P ls [kÈph xÃ tks ,d nwljs ij 80° >qdh gqÃ gS rks ∠POA cjkcj  

( a ) 50°               ( b ) 70°                       ( c ) 80°                          ( d ) 90° 

10. In figure quadrilateral ABCD is circumscribed, touching the circle at  P, Q, R and S such that ∠DAB = 

90°. If CR = 23cm,  CB = 39 cm and the radius of circle is 14 cm then AB =  

 
( a) 16cm.                 ( b ) 39cm.                  ( c ) 37cm.                        ( d )  30cm. 

10- ,d ifjxr prqHkqZt ABCD tks o`Ùk dks P, Q, R, S ij Li'kZ djrk gS ∠DAB = 90° gS ;fn CR = 23cm,  CB = 39 cm 

vkSj  o`Ùk dh f=T;k 14 cm gS ] rc AB = 

 

 

 

 

 

 

 

 

 

 

 

( a) 16cm.                 ( b ) 39cm.                  ( c ) 37cm.                        ( d )  30cm. 

11. If sin A =  x and sec A = y then tan A is equal to.  

( a ) xy.                     ( b ) x/y                      ( c ) y/x.                             ( d ) 1/xy 

11-;fn s sin A =  x  vkSj  sec A = y  rc tan A cjkcj gS  

( a ) xy.                     ( b ) x/y                      ( c ) y/x.                             ( d ) 1/xy  

 12. If tan (A + B) = √3 and tan (A - B)  = 1/√3 , A> B,  then the value of A is  

( a ) 30°.                   ( b ) 45°.                    ( c ) 60°.                              ( d ) 90° 

12- ;fn tan (A + B) = √3  vkSj  tan (A - B)  = 1/√3 , A> B,rc A dk eku gksxk 

 ( a ) 30°.                   ( b ) 45°.                    ( c ) 60°.                              ( d ) 90° 

13. If the angle of elevation of the top of a tower from a point on ground, 100 m away from the foot of the 

tower is 30°,  then the height of tower is…… 

( a ) 100m.               ( b ) 100√3 m             ( c ) 100/ √3 m.                    ( d ) 75√3 m 

13 Vkoj ds ikn  ls 100 m  nwjh ij fLFkr Çcnq ls Vkoj ds mPpre Çcnq dk mUu;u dks.k 30° gS rc Vkoj dh ÅapkÃ crkvks\  

( a ) 100m.               ( b ) 100√3 m             ( c ) 100/ √3 m.                    ( d ) 75√3 m 

14 if the circumference and the area of a circle are numerically equal then the diameter of a circle is  

( a ) π / 2.                  ( b ) 2π.                     ( c ) 2                                    ( d ) 4  
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14- ;fn o`r dh ifjfèk vkSj mldk {ks=Qy la[;kRed eku leku gS rks  oÙ̀k dk O;kl gksxk\  

( a ) π / 2.                  ( b ) 2π.                     ( c ) 2                                    ( d ) 4  

15. The sum of circumference and radius of a circle is 102 cm. The radius of circle is 

( a ) 7cm                  ( b ) 14cm                   ( c ) 10cm                            ( d ) 18cm 

15- oÙ̀k dh f=T;k vkSj ifjfèk dk ;ksx 102 cm. rks o`Ùk dh f=T;k gksxhA  

( a ) 7cm                  ( b ) 14cm                   ( c ) 10cm                            ( d ) 18cm 

16.  Romy is  blind folded and asked to pick one  ball from each of the jars. The chance of Romy picking a red 

ball is same in 

 
(  a  ) jars2 and jars 3   ( b ) jars1  and jars 3    

(  c  ) jars 1  and jars 2   ( d ) all the jars 3 
16- jkseh dks fcuk ns[ks çR;sd tkj esa ls ,d xsan  mBkus dks dgk tkrk gS xsan ds yky xsan gksus dh laHkkouk fdu esa leku gS

 

(  a  ) jars2 and jars 3   ( b ) jars1  and jars 3    

(  c  ) jars 1  and jars 2   ( d ) all the jars 3 

17. Two dice are rolled simultaneously. What is the probability that 6 will come up at least once?  

( a ) 1 / 6.                   ( b ). 7 / 36.               ( c ) 11 / 36.                     ( d ). 13 / 36 
17 nks ikls dks ,d lkFk mNkyk tkrk gS de ls de ,d ij 6 vkus dh çkf;drk D;k gS  

( a ) 1 / 6.                   ( b ). 7 / 36.               ( c ) 11 / 36.                     ( d ). 13 / 36 

18.  The empirical relationship between the mode, median and mean of a distribution is:  

( a ) Mode = 3 Median - 2Mean    

( b ) Mode = 3 Mean - 2Median 

( c ) Mode = 2 Median - 3Mean 

( d ) Mode = 2 Mean - 3Median 

18-ekè;]  ekfè;dk vkSj cgqyd ds eè;  empirical relationship D;k gksrh gS  
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( a ) Mode = 3 Median - 2Mean    

( b ) Mode = 3 Mean - 2Median 

( c ) Mode = 2 Median - 3Mean 

( d ) Mode = 2 Mean - 3Median 

Direction:- In the questions number 19 and 20 a statement of assertion (A) is followed by statement of reason 

( R ) . choose the correct option 
funsZ'ku % ç'u la[;k 19 vkSj 20 esa ,d –<+ dFku vkSj ,d dkj.k dFku gSa A lgh fodYi dk pquko dhft,A 

19. Statement  A ( assertion ) : The volume of a right circular cylinder of base radius 7 cm and height 10 cm is 

1540 cm
3
. 

Statement R ( reason) : according to assertion , the curved surface area of cylinder is 440 cm
2
. 

( a ) Both assertion ( A ) and reason ( R ) are  true and reason ( R )  is correct explanation of assertion ( A )  

( b ) Both assertion ( A ) and reason ( R ) are  true and reason ( R )  is not correct explanation of assertion (A)  

( c ) Assertion ( A )  is true but reason ( R )  is false. 

( d ) Assertion ( A )  is false but reason ( R )  is true. 

19- dFku A ( assertion ) ,d csyu  ftldh vkèkkj dh f=T;k 7 cm  vkSj ÅapkÃ 10 cm  gS dk vk;ru 1540 cm
3
 gS 

dkj.k R dFku ds vuqlkj csyu dk oØ ìf"B; {ks=Qy 440 cm
2
 gS 

( a )  dFku ( A )   vkSj dkj.k ( R ) nksuksa lR; gSa vkSj dkj.k ( R ) dFku ( A ) dh lgh O;k[;k gSA 

( b )- dFku ( A )  vkSj dkj.k ( R ) nksuksa lR; gSa ysfdu dkj.k ( R )  dFku ( A ) dh lgh O;k[;k ugÈ gSA 

( c ) - dFku ( A )  lR; gS ysfdu dkj.k ( R )  vlR; gSA 

( d )  dFku ( A )  vlR; gS ysfdu dkj.k ( R )  lR; gSA  

20 Statement  A ( assertion ) : if the second term of an AP is 13 and the fifth term is 25, then its seventh term 

is 33.  

Statement R ( reason) : if the common difference of an AP is 5 then a18 - a13 is 25 

( a ) Both assertion ( A ) and reason ( R ) are  true and reason ( R )  is correct explanation of assertion ( A )  

( b ) Both assertion ( A ) and reason ( R ) are  true and reason ( R ) is not correct explanation of assertion (A)  

( c ) Assertion ( A )  is true but reason ( R )  is false. 

( d ) Assertion ( A )  is false but reason ( R )  is true. 

20- dFku A ( assertion ) %  ;fn ,d AP dk nwljk in 13 vkSj ikapok in 25 gS rks bldk lkroka in 33 gksxk 

 dkj.k  R ( reason) % ;fn AP dk lok±rj ikap gS rks  a18 - a13 ¾ 25 gSA 

¼a½- dFku ( A )  vkSj dkj.k ( R ) nksuksa lR; gSa vkSj dkj.k ¼vkj½ dFku ( A ) dh lgh O;k[;k gSA 

¼b½- dFku ( A )  vkSj dkj.k ( R ) nksuksa lR; gSa ysfdu dkj.k ¼vkj½ dFku ( A )  dh lgh O;k[;k ugÈ gSA 

¼c½- dFku ( A )  lR; gS ysfdu dkj.k ( R ) vlR; gSA  

¼d½- dFku ( A )  vlR; gS ysfdu dkj.k ( R ) lR; gSA 

         SECTION -  B 

Section B consists of 5 questions of 2 marks each. 

21 Show that 5 +3√2 is an irrational number. Where √2 is given to be an irrational number.              2

  

21-  n'kkZb,   5 $3√2 ,d vifjes; la[;k gS tgka √2 ,d vifjes; la[;k fn;k gqvk gS 

22 In the given figure , if  ∠A= 90°  ∠B =90° ,OB =4.5 cm , OA=6 cm and  AP = 4 cm then find QB                                                         
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                                                                                    2 

22- uhps fn, x, fp= esa ] ;fn  ∠A= 90°  ∠B =90° ,OB =4.5 cm , OA=6 cm vkSj  AP = 4 cm  rks QB  Kkr dhft, 

 
23.From an external point P , two tangents PA and PB are drawn to a circle with centre O.  At a point E on the 

circle, a tangent is drawn to intersect PA and PB at C and D respectively. if PA = 10 cm find the perimeter of 

∆PCD. 

 
 

23. ,d òÙk ftldk dsaæ O gS ij ,d ckgjh Çcnq P ls nks Li'kZ js[kk,a PA  vkSj PB [kÈph tkrh gSA 

o`Ùk ds ,d Çcnq E ls ,d vkSj Li'kZ js[kk  [kÈph tkrh gS tks Øe'k% PA vkSj PB dks Çcnq C vkSj Çcnq D ij dkVrh gSA ;fn PA = 

10 lseh gS rks ∆PCD dk ifjeki Kkr dhft, 

 

 
 

24. If √3 sinθ  - cosθ  = 0 and 0° < θ < 90°  find the value of A                                                                2 

24- ;fn √3 sinθ  - cosθ  = 0 vkSj  0° < θ < 90°  A  eku Kkr dhft, \ 

                        OR 

Evaluate 

 2tan
2
 45° + cos

2
 30°- sin

2
60 

मान ज्ञात कीजिए-  

2tan
2
 45° + cos

2
 30°- sin

2
60 
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25. The length of the minute hand of a clock is 6 cm. Find the area Swept by it when it moves from 7:05 p.m. 

to 7:40 pm.                                                                                                                                                         2 

 

25 ,d ?kM+h dh feuV dh lqÃ ftldh yackÃ 6 cm  gS- tc og 7:05 p.m. ls 7:40 pm rd ?kwerh  gS rks fdruk  {ks=Qy ?ksjrh 

gS 

                   

OR 

In the given figure arcs have been drawn of radius 7 cm each with vertices A,B,C and D of quadrilateral 

ABCD as centres .find the area of shaded region. 

 

 
 

uhps fn, x, fp= esa ,d prqHkqZt ABCD ds 'kh"kZ A,B,C D  dks dsaæ ekudj 7 cm f=T;k ds pki [kÈps tkrs gSaA Nk;k ऺfdr Hkkx dk 

{ks=Qy Kkr dhft,\ 

  

 

 

 

 

 

 

 

 

 

SECTION - C 

Section C consists of 6 questions of 3 marks each. 

26. Find the greatest number of 6 digit exactly divisible by 18,24 and 36                                     3 
26-    6 vadksa dh og cM+h ls cM+h la[;k Kkr dhft, tks 18 24 vkSj 36  ls iw.kZ :i ls foHkkT; gks 

27. If one root of quadratic equation 3x
2
  + px + 4 = 0 is 2 / 3,  then the find of value of p and find other root 

of the equation                                                                                                     3 

27- ;fn f}?kkr lehdj.k 3x
2
  + px + 4 = 0 dk ,d ewy 2@3 gS rks p dk eku Kkr dhft, vkSj nwljk ewy crkb,\ 

28 . A fraction becomes  
 

   
,  if 2 is added to both the numerator and denominator. if, 3 is added to both the 

numerator and denominator it becomes 
 

 
 , find the fraction.                                                                    3 

28- ;fn ,d fHkUu ds va'k vkSj gj nksuksa esa 2 tksM+rs gSa rks og fHkUu 
 

   
 cu tkrh gSA ;fn va'k vkSj gj nksuksa esa 3  tksM+rs gSa  rks og  

 

 
- rks og fHkUu Kkr dhft,A                        

      OR 

The sum of the digits of two digit number is 9.  also nine times this number is twice the number obtained by 

reversing the order of digits. find the number . 
nks vadks dh la[;k esa vadks dk ;ksx 9 gS A la[;k dk 9 xquk ] vadks dks ijLij Øe cnyus ij cuus okyh la[;k dk nksxquk ds cjkcj 

gksrk gS A rks la[;k Kkr dhft,\ 
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29. Two tangents TP and TQare drawn to a circle with centre O from an external point T. Prove that ∠PTQ  

=2  ∠OPQ                                                                                                 3 

,d òÙk ftldk dsaæ O gS ij ,d ckgjh Çcnq T ls nks Li'kZ js[kk,a TP  vkSj TQ [kÈph tkrh gS rks fl) dhft, ∠PTQ  =2  

∠OPQ                                  

OR 

A quadrilateral ABCD is drawn to circumscribe a circle in given figure .Prove that AB + CD  =  AD + BC 

 
,d ifjxr prqHkqZt ABCD tks òÙk dks PQRS Li'kZ djrk gS  fl) dhft,  AB + CD  =  AD + BC 
 

30. Prove that (sin A + cos A) (tanA + cotA )  =  sec A + cosec A                                             3 

30- fl) dhft,, (sin A + cos A) (tanA + cotA )  =  sec A + cosec A 

 

31. The frequency distribution of daily rainfall in a town during a certain period of period is shown below.    3 

 

Rainfall (in mm ) Number of days  

0. -  20 10 

20. - 40 x 

40  - 60 12 

60. - 80 8 

Unfortunately due to manual errors, the information on the 20 - 40 mm range got deleted from the data. If  the 

mean daily rainfall for the period was 35 mm, find the number of days when the rainfall ranged  between 20 - 

40 mm . 

31 एक शहर में एक जनजित समय अंतराल में दैजनक वर्ाा का आवती जवतरण जनचे  दशााया गया । 

Rainfall (in mm ) Number of days  

0. -  20 10 

20. - 40 x 

40  - 60 12 

60. - 80 8 

ekuoh; Hkwy ds dkj.k nqHkkZX;o'k 20 & 40 mm oxZ ifjlj dk MkVk xk;c gks x;kA ;fn nSfud o"kkZ dk ekè; ml le; varjky esa  

35 mm FkkA rks oxZ varjky 20 & 40 mm esa fdrus fnuksa rd o"kkZ gqÃA Kkr dhft,  \         
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SECTION - D 

Section D consists of 4 question of 5 marks each. 

32. In a flight of 600 km, an aircraft was slowed down due to bed weather . Its average speed for the trip was 

reduced by 200 km/ h from its usual speed and time of flight increased by 30 minutes . find the scheduled 

duration of flight.                                                                             5 
32- 1600 fdyksehVj gokÃ  ;k=k es [kjkc ekSle ds dkj.k ok;q;ku dh xfr èkhjs gks xÃA ok;q;ku dh xfr viuh okLrfod xfr ls 200 

km/ h de gks xÃ rFkk gokÃ ;k=k dk le; 30 feuV c<+  x;kA  gokÃ ;k=k dk fuèkkZfjr vofèk  D;k Fkh] Kkr dhft,A 

                               OR 

 

A boat goes 30 km upstream and 44 km downstream in 10 hour. In 13 hour, it can go 40 km upstream and 55 

km downstream . determine the speed of the stream and that of the boat in still water. 
,d uko 10 ?kaVs esa 30 fdyksehVj èkkjk ds foijhr vkSj 44 fdyksehVj èkkjk dh fn'kk esa pyrh gSA 13 ?kaVs esa 40 fdyksehVj 

èkkjk ds foijhr vkSj 55 fdyksehVj èkkjk dh fn'kk esa pyrh gSA èkkjk dh xfr vkSj fLFkj ty esa uko  dh xfr crkb,\  

 

33. ( a ) State and prove basic proportional theorem(BPT).                                                               3 

( b ) If a line intersects sides AB and AC of a ∆ABC at D and E respectively and  DE||BC,  prove that AD / 

AB = AE / AC                                                                                                          2 

33- ( a ) BPT dk dFku fyf[k, vkSj lR;kfir dhft,A  

( b )  ∆ ABC dh Hkqtk AB vkSj AC dks  ,d js[kk Øe'k% D vkSj E ij dkVrh gS vkSj DE||BC] fl) dhft, AD / AB = 

       AE / AC. 

                                                                                                      

34. A vessel is the form of hollow hemisphere mounted by a hollow cylinder the diameter of hemisphere is 12 

cm and the total height of vessel is 10 cm find the inner surface area of the vessel.                                              

                                                                                      5 

,d crZu vèkZ xksykdkj vkdkj dk ftl ij [kks[kyk csyu yxk gSA vèkZ xksys dk O;kl 12 cm  vkSj crZu dh dqy ÅapkÃ 10 cm gS 

rks crZu dk vkarfjd i`f"B; {ks=Qy Kkr dhft,                              

 OR 

Water in a canal 6m wide and 1.5 m deep is flowing with a speed of 10 km/ hour. How much area will it 

irrigate in 30 minutes, if 8cm standing water is needed ? 

,d ugj 6 m pkSM+h vkSj 1.5m xgjh ftlesa ikuh dk çokg dh xfr km/ hour gS 30 feuV esa fdruk {ks=Qy ÇlpkÃ gksxh ;fn 

[kM+s ikuh dh ÅapkÃ 8m gS 

35. If the median of the following frequency distribution is 32.5 .find the values of f1 and f2 . 

 

Class  0 - 10 10-20 20-30 30-40 40-50 50-60 60 - 70 Total  

Frequency  f1 5 9 12 f2 3 2 40 

 

35 यजद जनम्नजलखित आवती जवतरण की माखिका 32.5  है तो f1 और f2 का मान ज्ञात कीजिए 

 

Class  0 - 10 10-20 20-30 30-40 40-50 50-60 60 - 70 Total  

Frequency  f1 5 9 12 f2 3 2 40 

                                                                                                                                                        5 

SECTION - E 

 

36  The school auditorium was to be constructed to accommodate at list 1500 people. The chairs are to be 

placed in concentric circular arrangement in such a way that each succeeding circular row has 10 seats more 

than the previous one. 
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(i) if the first circular row has 30 seats, how many seats will be there in the 10th row         1 

(ii) For 1500 seats in the auditorium, how many rows need to be there?                            2 

                            OR 

    If 1500 seats are to be arranged in the auditorium, how many seats are still left to be put after 10th row? 

(iii) if there were 17 rows in the auditorium, how many seats will be there in the middle row? 1 

 
36- ,d fo|ky; ds v‚fMVksfj;e esa 1500 O;fä ,d lkFk vk lds cuk;k x;kA dqÆl;ksa dks  ldsafær o`rkdkj :i ls bl çdkj j[kk 

x;k fd çR;sd vxyh iafä esa fiNyh iafä ls 10 lhV T;knk gksA 

 

 
 

 

(i) ;fn igyh iafä esa 30 lhV gS rks nloÈ iafä esa fdruh lhV gksxhA 

(ii)  ;fn v‚fMVksfj;e esa 1500 lhV  gks rks fdruh iafä;ka dh vko';drk gksxhA 

                        ;k 

;fn v‚fMVksfj;e esa 1500 lhV O;ofLFkr dh tkrh gS rks nloÈ iafä ds ckn fdruh vkSj lhV ckdh jgrh gS 

(iii)  ;fn v‚fMVksfj;e esa 17 iafä;ka gSa rks eè; dh iafä esa fdruh lhV gksxhA  

 

37 In order to conduct Sports day activities in your school , lines have been drawn with chalk powder at a 

distance of 1 m each, in a rectangular shaped grouped ABCD, 100 flowerpots have been Placed at a distance 

of 1 m from each other along AD  as shown  in given figure below. Niharika runs 1/4th  the distance AD on 

the 2nd line and posts a green  (G) flag preet runs 1/5th  distance AD on the eighth line and post a red (R) flag. 

 

 



Page 11 of 13 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(i) Find the position of green flag ?                                         1 

(ii) Find the position of Red flag ?                                          1 

(iii) What is the distance between both the flags ?                  2 

                              OR 

If Rashmi has to post a blue flag exactly halfway between the line segment joining the two flags, Where 

should she post her flag? 

37- rqEgkjs Ldwy esa LiksV~lZ Ms xfrfofèk djokus ds fy, pkd ikmMj ls ,d vk;rkdkj lewg ABCD esa 1 ehVj nwjh ij js[kk,a cukÃ 

xÃ] fp= esa n'kkZ;sa vuqlkj 100 ¶ykoj i‚V 1 ehVj nwjh ij AD ij  LFkkfir fd, x,A  fugkfjdk nwljh ykbu esa AD  fd 1/4th  

nwjh nkSM  dh vkSj ogka ij xzhu ¶ySx (G)  lR;kfir fd;k A çhfr vkBoÈ js[kk esa AD dk 1/5th  nwjh nkSM dh vkSj ogka ij jsM ¶ySx 

(R)  LFkkfir fd;kA 

 

 

 

(i) xzhu ¶ySx dh fLFkfr Kkr dhft,A 

(ii) jsM ¶ySx dh fLFkfr Kkr dhft,A 

(iii) nksuksa ¶ySx ds chp dh nwjh crkb,A 

OR 
;fn j'eh dks nksuksa >aMksa dks feykus okys js[kk[kaM ds Bhd chp esa uhyk >aMk yxkuk gS] rks mls viuk >aMk dgka yxkuk pkfg,\ 

 

 

38 An electrician has to repair an electric fault on the pole of height 5 m. He needs to reach a point 1.3 m 

below the top of the pole to undertake the repair work (see figure below). 
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(i) What is the length of BD ?                                                                                                        1 

(ii) What should be the length of ladder, when inclined at an angle of 60°  to the horizontal?     1 

(iii) How far from the foot of the pole should he place the foot of the ladder?                            2 

                           OR 

If the horizontal angle is changed in 30° then what should be the length of the ladder? 
38 ,d bysfDVªf'k;u dks 5 eh  Åaps [kacs ij ejEer dk;Z djuk gSA mls bl ejEer dk;Z ds fy, [kacs ds mPpre Hkkx ls 1-3 eh uhps 

rd igqapus dh vko';drk gS - 

 

(i) BD dh yackÃ D;k gS\ 
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(ii) lh<+h dh yackÃ D;k gksxh tc og {kSfrt ds lkFk 60° dk dks.k cukrh gS\ 

(iii) lh<+h dk fupyk fljk [kacs ds fupys fljs ls fdruh nwjh ij LFkkfir fd;k \ 

;k 

;fn  {kSfrt dks.k dks 30° esa cny fn;k tk,-  rks lh<+h dh yackÃ D;k gksxh \ 

 

 

 

 

 

 

 

 

 

 

 


